
Replacement Parts List update: July. 20, 2021

LGE

Part Name Headcover

Part Number
Required Qty 1

Related Series

Remarks

Part Name LED Unit: Red

Part Number
Required Qty 1-5: Depends on number of tiers.

Related Series

Remarks

Part Name LED Unit: Amber

Part Number
Required Qty 1-5: Depends on number of tiers.

Related Series

Remarks

Part Name LED Unit: Green

Part Number
Required Qty 1-5: Depends on number of tiers.

Related Series

Remarks

Part Name LED Unit: Blue

Part Number
Required Qty 1-5: Depends on number of tiers.

Related Series

Remarks

Part Name LED Unit: White

Part Number
Required Qty 1-5: Depends on number of tiers.

Related Series

Remarks

B32310013-F1

LGE

Headcover only. No other parts included.

B32100004-1F1

LGE

Includes O-ring.
When using the same color, simultaneous lighting of the colors will occur.

B32100004-2F1

LGE

Includes O-ring.
When using the same color, simultaneous lighting of the colors will occur.

B32100004-3F1

LGE

Includes O-ring.
When using the same color, simultaneous lighting of the colors will occur.

B32100004-4F1

LGE

Includes O-ring.
When using the same color, simultaneous lighting of the colors will occur.

B32100004-7F1

LGE

Includes O-ring.
When using the same color, simultaneous lighting of the colors will occur.

1/2 PATLITE Corporation　All Rights Reserved



Part Name O-ring

Part Number Z35721001-090F1
Required Qty 1-5: Depends on number of tiers.

Related Series LGE

Remarks

Part Name Shaft: 1 Tier　(1 piece)

Part Number
Required Qty 2

Related Series

Remarks

Part Name Shaft: 2 Tier　(1 piece)

Part Number
Required Qty 2

Related Series

Remarks

Part Name Shaft: 3 Tier　(1 piece)

Part Number
Required Qty 2

Related Series

Remarks

Part Name Shaft: 4 Tier　(1 piece)

Part Number
Required Qty 2

Related Series

Remarks

B62910028-1F1

LGE-1☐☐

Shaft for 1-tier. Flat washer, with O-ring. M4×79mm.
Two are required for one unit.

B62910028-2F1

LGE-2☐☐

Shaft for 2-tier. Flat washer, with O-ring. M4×140mm.
Two are required for one unit.

B62910028-3F1

LGE-3☐☐

Shaft for 3-tier. Flat washer, with O-ring. M4×202mm.
Two are required for one unit.

B62910028-4F1

LGE-4☐☐

Shaft for 4-tier. Flat washer, with O-ring. M4×264mm.
Two are required for one unit.

2/2 PATLITE Corporation　All Rights Reserved


